
DRAINAGE

EXTENSION TUBES DESCRIPTION

B30-106 EXTENSION TUBE CP 1 1/4x6 SLIP JOINT NUT&WASHER

B30-108 EXTENSION TUBE CP 1 1/4x8 SLIP JOINT NUT&WASHER

B30-110 EXTENSION TUBE CP 1 1/4x10 SLIP JOINT NUT&WASHER

B30-112 EXTENSION TUBE CP 1 1/4x12 SLIP JOINT NUT&WASHER

B30-206 EXTENSION TUBE CP 1 1/2x6 SLIP JOINT NUT&WASHER

B30-208 EXTENSION TUBE CP 1 1/2x8 SLIP JOINT NUT&WASHER

B30-212 EXTENSION TUBE CP 1 1/2x12 SLIP JOINT NUT&WASHER

B30-216 EXTENSION TUBE RB 1 1/2x6 SLIP JOINT NUT&WASHER

B31-106 EXTENSION TUBE CP 1 1/4" x 6" TO SOLDER

B31-108 EXTENSION TUBE CP 1 1/4" x 8" TO SOLDER

B31-206 EXTENSION TUBE CP 1 1/2" x 6" TO SOLDER

BP1161K EXTENSION TUBE TBE 20 GA 1 1/4 X 12 

BP20210 EXTENSION TUBE TBE 20 GA 1 1/4 X 6 

BP20211 EXTENSION TUBE TBE 20 GA 1 1/2 X 6 

BP20212 EXTENSION TUBE 22 GA SJ 1 1/4 X 6 

BP20213 EXTENSION TUBE 22GA SJ 1 1/2 X 6 

BP20226 EXTENSION TUBE 22 GA SJ 1 1/4 X 12 

BP205512 EXTENSION TUBE SJ 1 1/2 X 12 

BP20552 EXTENSION TUBE SJ 1 1/2 X 6 

BP20944 EXTENSION TUBE SJ 1 1/4 X 6 

BP20945 EXTENSION TUBE SJ 1 1/4 X 12 

BP21206 EXT TUBE FLEX/FIX SJ 1 1/2 X12 

BP215511 EXTENSION TUBE PL 1 1/2x8 SLIPJOINT NUT&WASHERBAG

BP2706PC EXT TUBE 22 GA SOLDER 1 1/4 X6 

BP30108 EXTENSION TUBE CP 1 1/4x8 SLIP JOINT NUT&WASHER

BP31108 EXTENSION TUBE CP 22 GA 1 1/4" x 8" TO SOLDER

PPC10-12CP TUBE TBE 20 GA 1 1/4 X 12 

PPC10CP TUBE TBE 20 GA 1 1/4 X 6 

PPC11CP TUBE TBE 20 GA 1 1/2 X 6 

PPC12-12CP EXTENSION TUBE 22 GA SJ 1 1/4 X 12 

PPC12-6CP EXTENSION TUBE 22 GA SJ 1 1/4 X 6 

PPC13-12CP EXTENSION TUBE 22 GA SJ 1 1/2 X 12 

PPC13-6CP EXTENSION TUBE 22 GA SJ 1 1/2 X 6 

PPC2706PC EXTENSION TUBE 22 GA SOLDER 1 1/4 X6 

PPC40-8B EXTENSION TUBE SJ 1 1/2 X 8 

PPC41-16B EXTENSION TUBE SJ DBL END 1 1/2 X 16 

PPC42-8B EXTENSION TUBE SJ 1 1/4 X 8 

PPC812-5 EXT TUBE FLEX & FIX 1 1/4 X 9 SJ

PPC812-6 EXT TUBE FLEX & FIX 1 1/2 X 12 SJ

PPC812-7 TLPC UNIVERSAL FLEX&FIX 1 1/2 SLIDE BLISTER

PPC911B EXTENSION TUBE SOLV WELD 1 1/2 X 12 

PPC944B EXTENSION TUBE SJ 1 1/4 X 6 

PPC945B EXTENSION TUBE SJ 1 1/4 X 12 

WASTE TUBES DESCRIPTION

B32-104 WASTE TUBE CP 1 1/4" x 4" THREADED BOTH ENDS

B32-106 WASTE TUBE CP 1 1/4" x 6" THREADED BOTH ENDS

B32-108 WASTE TUBE CP 1 1/4" x 8" THREADED BOTH ENDS

B32-110 WASTE TUBE CP 1 1/4" x10" THREADED BOTH ENDS

B32-112 WASTE TUBE CP 1 1/4' x12" THREADED BOTH ENDS

B32-118 WASTE TUBE CP 1 1/4" x18" THREADED BOTH ENDS

B32-206 WASTE TUBE CP 1 1/2" x 6" THREADED BOTH ENDS

B32-208 WASTE TUBE CP 1 1/2" x 8" THREADED BOTH ENDS

B32-210 WASTE TUBE CP 1 1/2" x10" THREADED BOTH ENDS

B32-212 WASTE TUBE CP 1 1/2" x12" THREADED BOTH ENDS

B32-218 WASTE TUBE CP 1 1/2" x18" THREADED BOTH ENDS

B32-236 WASTE TUBE BR 1 1/2" x 6" THREADED BOTH ENDS

B32-238 WASTE TUBE BR 1 1/2" x 8" THREADED BOTH ENDS

B32-240 WASTE TUBE BR 1 1/2" x10" THREADED BOTH ENDS

B32-242 WASTE TUBE BR 1 1/2" x12" THREADED BOTH ENDS

v20140425  /  Page 1 of 8  514-940-9634  /  1-800-361-5960



DRAINAGE (suite)

EXTENSION TUBES (suite) DESCRIPTION

BP32104 WASTE TUBE CP 1 1/4" x 4" THREADED BOTH ENDS

TAILPIECES DESCRIPTION

B10-4B PLASTIC TAILPIECE CSA 1 1/2" x 4"

B10-6B PLASTIC TAILPIECE CSA 1 1/2" x 6"

B35-106 DW BRANCH TAILPIECEE BR 1 1/2"x 6" 1/2"COP OR 3/4"THREAD H CONN

B35-108 DW BRANCH TAILPIECEE BR 1 1/2"x 8" 1/2"COP OR 3/4"THREAD H CONN

B35-206 DW BRANCH TAILPIECEE BR 1 1/2"x 6" 1/2" COPPER CONNECTION

B35-208 DW BRANCH TAILPIECEE BR 1 1/2"x 8" 1/2" COPPER CONNECTION

B35-400 DISHWASHER DISP CONNECTOR WITH CLAMPS

B36-101 LAVATORY TAILPIECE CP 1 1/4" x 6"

B36-102 SINK TAILPIECE RB 1 1/2" x 2 5/8"

B36-103 SINK TAILPIECE RB 1 1/2" x 3"

B36-104 SINK TAILPIECE RB. 1 1/2" x 4"

B36-105 SINK TAILPIECE CP 1 1/2" x 4"

B36-106 SINK TAILPIECE RB 1 1/2" x 6"

B36-107 SINK TAILPIECE CP 1 1/2" x 6"

B36-108 SINK TAILPIECE RB 1 1/2" x 8"

B36-109 SINK TAILPIECE CP 1 1/2" x 8"

B36-110 SINK TAILPIECE RB 1 1/2" x 10"

B36-111 SINK TAILPIECE CP 1 1/2" x 10"

B36-112 SINK TAILPIECE RB 1 1/2" x 12"

BP2004PC SINK TAILPIECE 22 GA 1 1/2 X 4 

BP20209 SINK TAILPIECE 22 GA 1 1/2 X 6 

BP20664 BRANCH TAILPIECE SJ/DC 7/8OD 1.5 X8 

BP20905 SINK TAILPIECE 1 1/2 X 6 

BP20906 SINK TAILPIECE 1 1/2 X 12 

BP20912 SINK TAILPIECE 22 GA 1 1/2 X 12 

BP21201 SINK TAILPIECE FLEX/FIX DC 1 1/2X12 

BP215517 DRAIN TUBE PLASTIC 1 1/2" x 17 3/4"

BP21914 SINK TAILPIECE 1 1/2 X 4 

BP21918 SINK TAILPIECE 1 1/2 X 8 

BP35106 DW BRANCH TAILPIECEE BR 1 1/2"x 6" 1/2"COP OR 3/4"THREAD H CONN

BP35206 DW BRANCH TAILPIECEE BR 1 1/2"x 6" 1/2" COPPER CONNECTION

BP36102 SINK TAILPIECE RB 1 1/2" x 2 5/8"

BP36104 SINK TAILPIECE RB. 1 1/2" x 4"

BP36106 SINK TAILPIECE RB 1 1/2" x 6"

BP36108 SINK TAILPIECE RB 1 1/2" x 8"

BP9318 DW BRANCH TAILPIECEE 1 1/2"x 8" PL 3/4"IN BRANCH 5/8"OD BAG

PPC10-4B SINK TAILPIECE 1 1/2 X 4 

PPC10-8B SINK TAILPIECE 1 1/2 X 8 

PPC142CP BRANCH TLPC 22 GA SJ PLAIN 1 1/2 X 8

PPC35106 DW BRANCH TAILPIECE 1 1/2 X 6 2 COP OR 3/4 THREAD RB

PPC36104 TUBLR-CPTAILPIECEE   364 

PPC36106 TAILPCE,SINK 1-1/2X6 

PPC906B SINK TAILPIECE 1 1/2 X 12 

PPC9-12CP SINK TAILPIECE 22 GA 1 1/2 X 12 

PPC9-6CP SINK TAILPIECE 22 GA 1 1/2 X 6 

CONTINOUS WASTE DESCRIPTION

B38-116 CONTINUOUS WASTE BRASS 16" EO SLIP JOINT CONNECTOR

B38-316 CONTINUOUS WASTE BRASS 16" EO DIRECT CONNECTOR

B38-316-WA CONTINUOUS WASTE ARM ONLY 15"LONG FOR 16" CO ROUGH BRASS

B38-416 CONTINUOUS WASTE BRASS CSA 16" EO DIRECT CONNECTOR

B38-516 CONTINUOUS WASTE BRASS 16" CO SLIP JOINT CONNECTOR

B38-816 CONTINUOUS WASTE BRASS CSA 16" CO DIRECT CONNECTOR

B39-111 OVERFLOW TUBE BRASS 1" x 11" THREADED ONE END

B39-211 OVERFLOW TUBE BRASS 1" x 11" THREADED BOTH ENDS

BP20216 WASTE ARM 22GA SJ/DC 1 1/2 X15 

BP20223 END OUTLET CONT WST 22 GA SJ/DC 16

BP20224 CTR OUTLET CONT WST SJ/DC 16 22 GA

v20140425  /  Page 2 of 8  514-940-9634  /  1-800-361-5960



DRAINAGE (suite)

CONTINOUS WASTE (suite) DESCRIPTION

BP20667 CTR OUTLET TEE & TLPC SJ BAF 1 1/2

BP20668 END OUTLET TEE & TLPC SJ/DC W/BAF 1 1/2

BP20669 WASTE ARM SJ/DC 1 1/2 X 15 

BP20925 END OUTLET CONT WST SJ/DC 16 W/TEE

BP20930 CTR OUTLET CONT WST SJ/DC 16 W/BAFFLE

BP20935 CONTINUOUS WASTE EO PLASTIC 16" SLIP JOINT CONN BAG

BP20936 CONTINUOUS WASTE PLASTIC 16"DW EO SLIP JOINT CONN BAG

BP21921 CONTINUOUS WASTE PLASTIC 16" CO SLIP JOINT CONN BAG

BP21923 CTR OUTLET CONT WST DC 16 BAF 

BP21929 CONTINUOUS SINK WASTE PLAS 24" CO SLIP JOINT CONN BAG

BP21930 CONTINUOUS WASTE PLASTIC 24" EO DIRECT CONNECTOR BAG

PPC925B END OUTLET CONT WST SJ/DC 16 W/TEE

PPC930B CTR OUTLET CONT WST SJ/DC 16 W/BAFFLE

TRAPS DESCRIPTION

B10-011 P-TRAP CP 20GA CSA 1 1/4" W/DEEP FL & GR JOINT

B10-012 P-TRAP CP 20GA CSA 1 1/2"W/DEEP FLANGE & GR JOINT

B10-101 P-TRAP CP 22GA 1 1/4" WITH SHALLOW FLANGE

B10-101-1 P-TRAP CP 22GA 1 1/4" WITH DEEP FLANGE

B10-102 P-TRAP CP 22GA 1 1/2" WITH SHALLOW FLANGE

B10-102-1 P-TRAP CP 22GA 1 1/2" WITH DEEP FLANGE

B10-111 P-TRAP CP 20GA 1 1/4" WITH SHALLOW FLANGE

B10-112 P-TRAP CP 20GA 1 1/2" WITH SHALLOW FLANGE

B10-112-1 P-TRAP CP 20GA 1 1/2" WITH DEEP FLANGE

B10-121 P-TRAP CP 17GA 1 1/4" WITH SHALLOW FLANGE

B10-121-1 P-TRAP CP 17GA 1 1/4" WITH DEEP FLANGE

B10-131 P-TRAP RB CSA 20GA 1 1/4" LESS FLANGE

B10-132 P-TRAP RB 20GA CSA 1 1/2" LESS FLANGE

B10-200W2 P-TRAP PLASTIC 1 1/4" (CSA) W/SLIP JOINT NUTS(GR.JOINT)

B10-211 P-TRAP CP 20GA 1 1/4" W/SHALLOW FL & CLEANOUT

B10-211-1 P-TRAP CP 20GA 1 1/4" W/DEEP FLANGE &CLEANOUT

B10-212 P-TRAP CP 20GA 1 1/2" W/SHALLOW FL & CLEANOUT

B10-221 P-TRAP CP 17GA 1 1/4" W/SHALLOW FL & CLEANOUT

B10-222 P-TRAP CP 17GA 1 1/2" W/SHALLOW FL & CLEANOUT

B10-301 P-TRAP CP 22GA 1 1/4" W/SHALLOW FLANGE 15"CE

B10-301-1 P-TRAP CP 22GA 1 1/4" W/DEEP FLANGE 15" CE

B10-311 P-TRAP CP 20GA 1 1/4" W/SHALLOW FLANGE 15"CE

B10-311-2 P-TRAP CP 20GA CSA 1 1/4" W/DEEP FL &GR JOINT 15"

B10-400KIT P-TRAP TUBULAR PLASTIC 1 1/2" W/UNION-JOINT

B10-400TTW P-TRAP PLASTIC CSA 1 1/2"W/UNION JT&SLIP JT INLET

B10-501 S-TRAP CP 22GA 1 1/4" W/SHALLOW FLANGE

B10-501-1 S-TRAP CP 22GA 1 1/4" WITH DEEP FLANGE

B10-511 S-TRAP CP 20GA 1 1/4" W/SHALLOW FLANGE

B10-511-1 S-TRAP CP 20GA 1 1/4" WITH DEEP FLANGE

B10-512 S-TRAP CP 20GA 1 1/2" W/SHALLOW FLANGE

B10-5307PC P-TRAP SEMI-CAST CP CSA 1 1/2" W/DEEP FLANGE &CLEANOUT

B11-111 REPAIR P-TRAP 20GA 1 1/4" WITH SLIP JOINT

B17-112 ADJ SINK TRAP CP 20GA CSA 1 1/2" IPS

B17-113 ADJ SINK TRAP CP 20GA CSA 1 1/2" COPPER

BP10011 P-TRAP CP 20GA CSA 1 1/4" W/DEEP FL & GR JOINT

BP10012 P-TRAP CP 20GA CSA 1 1/2"W/DEEP FLANGE & GR JOINT

BP10132 P-TRAP RB 20GA CSA 1 1/2" LESS FLANGE BAG

BP105111 S-TRAP CP 20GA 1 1/4" W/DEEP FLANGE BAG

BP20200 P TRAP 22 GA 1 1/4 X 1 1/4 

BP20203 WALL TUBE 22 GA 1 1/4 X 7 FLNG 

BP20204 WALL TUBE 22 GA 1 1/2 X 7 

BP20215 P TRAP 22 GA 1 1/4 X 1 1/4 W/SHALLOW FLANGE 15"BAG

BP20250 P TRAP 22 GA 1 1/2 X 1 1/2 

BP20255 S TRAP 22 GA 1 1/4 X 1 1/4 

v20140425  /  Page 3 of 8  514-940-9634  /  1-800-361-5960



DRAINAGE (suite)

TRAPS (suite) DESCRIPTION

BP20663 S TRAP 1 1/2 OD 

BP20940 P TRAP 1 1/2 OR 1 1/4 X 1 1/2 

BP20941 P TRAP 1 1/4 OD 

BP20943 S TRAP 1 1/4 OD 

BP20960 REPAIR TRAP 1 1/2 OD 

BP4001 P-TRAP SEMI-CAST CP CSA 1 1/4" W/DF & CLEANOUT POWERS

BP400PVCK P TRAP 1 1/2 W/MARVEL CONN PVC 

BP81240K P TRAP FLEX & FIX 1 1/2 

BPK100BN P TRAP 20 GA 1 1/4 X 1 1/4 BR NICKEL

BPK100VB P TRAP 20 GA 1 1/4 X 1 1/4 VEN BRONZE

PPC100CP P TRAP 22 GA 1 1/4 X 1 1/4 

PPC150CP P TRAP 22 GA 1 1/2 X 1 1/2 

PPC200CP S TRAP 22 GA 1 1/4 X 1 1/4 

PPC250CP S TRAP 22 GA 1 1/2 X 1 1/2 

PPC3CP WALL TUBE 22GA 1 1/4"X7"SJOINT CHROME

PPC66-3B S TRAP 1 1/2 OD S TRAP

PPC940B P TRAP 1 1/2 OR 1 1/4 X 1 1/2 

PPC941B P TRAP 1 1/4 OD P TRAP

PPC950B SINK TRAP PLASTIC  1 1/2 SOLVENT WELD

PPC960B REPAIR TRAP 1 1/2 OD 

J-BENDS DESCRIPTION

B15-101 J-BEND CP 22GA 1 1/4x1 1/4 LESS CLEANOUT

B15-111 J-BEND CP 20GA 1 1/4x1 1/4 LESS CLEANOUT

B15-112 J-BEND CP 20GA 1 1/2x1 1/2 LESS CLEANOUT

B15-112-1 J-BEND ROUGH BRASS 20GA 1 1/2X1 1/2 LESS CLEANOUT

B17-162 J-BEND ADJUSTABLE SINK TRAP 20GA 1 1/2" ROUGH BRASS

BP15111 J-BEND CP 20GA 1 1/4x1 1/4 LESS CLEANOUT

BP15112 J-BEND CP 20GA 1 1/2x1 1/2 LESS CLEANOUT

BP20201 J BEND 22 GA 1 1/4 X 1 1/4 

BP20202 J BEND 22 GA 1 1/2 X 1 1/2 

BP20207 SINK TRAP J BEND 22 GA 1 1/2 

BP20661 J BEND 1 1/2 OR 1 1/4 X 1 1/2 1 1/2 J BEND

BP20946 J BEND 1 1/4 X 1 1/4 

PPC152CP J BEND 20 GA 1 1/2 X 1 1/2 

PPC1CP J BEND 22 GA 1 1/4 X 1 1/4 

PPC2CP J BEND 22 GA 1 1/2 X 1 1/2 

PPC812-50 J BEND FLEX & FIX 1 1/2 X1 1/2 1 1/4 X 1 1/2

PPC946B J BEND 1 1/4 X 1 1/4 

COUPLINGS AND WASTE BENDS DESCRIPTION

B21-107 FLUSH ELBOW CP 20GA 2x5x7 WITH NUTS & WASHERS

B28-110 SLIP COUPLING STRAIGHT CP 1 1/4x1 1/4 20GA

B28-120 SLIP COUPLING STRAIGHT CP 1 1/2" X 1 1/4"

B28-130 SLIP COUPLING STRAIGHT CP 1 1/2" x 1 1/2" 20GA

B28-140 SLIP COUPLING ELBOW(90) CP 1 1/4" x 1 1/4" 20GA

B28-145 SLIP COUPLING ELBOW(90) CP 1 1/2" x 1 1/2" 20GA

B28-150 SLIP COUPLING ELBOW(45) CP 1 1/4" x 1 1/4" 20GA

B28-155 SLIP COUPLING ELBOW CP 20GA 1 1/2x1 1/2 45DEG

BP20241 COUPLING STRT 22GA 1 1/4 

BP20242 CPLG ELBOW 90 DEG 22 GA 1 1/4 

BP20243 CPLG ELBOW 45 DEG 22 GA 1 1/4 

BP20246 CPLG ELBOW 90 DEG 22 GA 1 1/2 

BP20554 EXT COUPLING STRAIGHT SJ 1 1/2 

BP20555 COUPLING ELBOW 90 DEG 1 1/2 

BP21215 DOUBLE SLIP CPLG FLEX/FX 1 1/2 

BP29511 ELBOW SOLVENT WELD PLASTIC 1 1/2" 90DEG

PPC134 CPLG ELBOW STRAIGHT 22GA 1 1/2 

PPC137 CPLG ELBOW 45 DEG 22 GA 1 1/4 

PPC169 COUPLING ELBOW STRT 22GA 1 1/4 

v20140425  /  Page 4 of 8  514-940-9634  /  1-800-361-5960



DRAINAGE (suite)

PPC20CP CAST ELBOW 1 1/2 IPS 

PPC242 CPLG ELBOW 90 DEG 22 GA 1 1/4 

PPC812-15 DOUBLE SLIP CPLG FLEX & FIX 1 1/2

LAVATORY DRAINS

LAVATORY DRAINS DESCRIPTION

B20-108 PO PLUG CP 20GA CSA 1 PCES 1 1/4" x 8"

B20-306 PO PLUG 20GA CSA FORGE BRASS 3 PCES CP 1 1/4" x 6" BAG

B20-306B PO PLUG 20GA CSA FORGE BRASS 4 PCES CP 1 1/4" x 6" BOX

B20-316 PO PLUG CP 20GA FORGE BRASS 3 PCES 1 1/4" x 6" BAG

B20-326 PO PLUG CP 17GA TOP 20GA BODY 2 PCES 1 1/4" x 8" CSA

B20-426 MECHANICAL POP-UP CP CSA 1-1/4"x 8" TAILPIECE F/LAV BRASS

B20-426BN MECHANICAL POP-UP BN PVD 1-1/4"x 8" TAILPIECE F/LAV BRASS

B20-426BN MECHANICAL POP-UP BN PVD 1-1/4"x 8" TAILPIECE F/LAV BRASS

B20-426PLA MECHANICAL POP-UP CP 1-1/4"x8" FOR LAVATORY PLASTIC

B20-428 FLIP POP-UP CP FOR VESSEL 1-1/4" x 6" TAILPIECE BRASS

B20-428BN FLIP POP-UP BN FOR VESSEL 1-1/4" x 6" TAILPIECE BRASS

B20-429 PRESTO POP-UP CP FOR VESSEL 1-1/4" x 6" TAILPIECE BRASS

B20-429BN PRESTO POP-UP BN FOR VESSEL 1-1/4" x 6" TAILPIECE BRASS

B75SSABS PO PLUG 1 PIECE 5 IN W/ SS RIM 

BP1686K POP UP VESSEL SINK DRAIN CHROM 1-1/4 X 6"

BP1811K MACK WASHER 1-1/4 FOR SINK STR 

BP20219 PO PLUG 1 PIECE 22 GA 5 IN 

BP20306B PO PLUG CP 20GA CSA 3 PCES FORGE BRASS 1-1/4" x 6"

BP20316 PO PLUG CP 20GA 3 PCES FORGE BRASS 1-1/4" x 6"

BP20316 PO PLUG CP 20GA 3 PCES FORGE BRASS 1-1/4" x 6"

BP20-425 DECORATIVE SQUARE PRESTO POP 1-1/4" X 8" 20GA CHROME W/OFLW

BP20426 MECHANICAL POP-UP CP CSA 1 1/4x8 FOR LAVATORY (BRASS)

BP20426BN MECHANICAL POP-UP BN PVD 1 1/4"x6"TAILPIECE F/LAV BRASS

BP20-426P MECHANICAL POP-UP PL CP 1 1/4" x 8" FOR LAVATORY BAG

BP20428 FLIP POP-UP CP FOR VESSEL 1 1/4" x 6" TAILPIECE BRASS

BP20-428 FLIP POP-UP CP FOR VESSEL 1 1/4" x 6" TAILPIECE BRASS

BP20428BN FLIP POP-UP BN FOR VESSEL 1 1/4" x 6" TAILPIECE BRASS

BP20429 PRESTO POP-UP CP FOR VESSEL 1 1/4" x 6" TAILPIECE BRASS

BP20-429 PRESTO POP-UP CP FOR VESSEL 1 1/4" x 6" TAILPIECE BRASS

BP20429BN PRESTO POP-UP BN FOR VESSEL 1 1/4" x 6" TAILPIECE BRASS

BP20-429BN PRESTO POP-UP BN FOR VESSEL 1 1/4" x 6" TAILPIECE BRASS

BP205680PC PO PLUG CP 17GA CSA CAST BR W/OPEN GRID 1 1/4"x6"

BP20-5700PC PO PLUG 17GA CSA/CUPC OFFSET FORGE BR W/OPEN GRID 1 1/4" CP

BP3008PC PO PLUG 1 PIECE 22 GA 8 IN 

BP3902 PO PLUG 20GA 1 1/4 X 5 3/4 WITH OPEN STRAINER

BP3903 PO PLUG 20GA 1 1/4 X 5 3/4 WITH CHAIN & STOPPER

BP3906 PO PLUG CP 17GA CSA OFFST PWRS CAST BR W/OPEN GRID 1 1/4"

BP3908 PO PLUG CP 1-1/4" 17GA CSA OFFSET WITH PLUG & CHAIN

BPK820-77BN MECH POP UP 2PC 1 1/4 W/4"TLPC BRUSHED NICKEL

BPK820-77VB MECH POP UP 2PC 1 1/4 W/4"TLPC VENETIAN BRONZE

PPC19PC PO PLUG 1 PIECE 22 GA 5 IN 

PPC20306 PO PLUG P&C FORGE BRASS CSA 1 4 X 6''

PPC20428 PO PLUG FLIP CP 

PPC20428BN FLIP POP-UP BN FOR VESSEL 1 1/4" x 6" TAILPIECE BRASS

PPC20429 PO PLUG PRST 11/4" PC 

PPC20429BN PO PLUG PRST 11/4" BN 

PPC3008PC PO PLUG 1 PIECE 22 GA 8 IN 

PPC75SSABS PO PLUG 1 PIECE 5 IN W/ SS RIM 

PPC812-70 POP UP ASSY FLEX & FIX 1 1/4 SEALED BLISTER

PPC820-70 POP UP COMPLETE ASSY 1 1/4 CP PLASTIC

PPC820-71 POP UP PLUNGER FOR P PFISTER 

PPC820-72 POP UP SINK DRAIN ROD & STRAP 

PPC820-73 POP UP CENTER ROD ASSY-PFISTER 

COUPLINGS AND WASTE BENDS (suite)

v20140425  /  Page 5 of 8  514-940-9634  /  1-800-361-5960



LAVATORY DRAINS (suite)

LAVATORY DRAINS (suite) DESCRIPTION

PPC820-77 MECH POP UP 2PC 1 1/4 W/4"TLPC 

PPC820-77BN MECH POP UP 2PC 1 1/4 W/4"TLPC BRUSHED NICKEL

B20-246 CO PLUG CP 22GA 1 1/4" x 6"

BP681K CO PLUG 1 PIECE 22 GA 5 IN 

PPC820-75 CO PLUG 1 PIECE 22 GA 5 IN 

BATH DRAINS

BATH DRAINS DESCRIPTION

B60-165 BATH DRAIN CABLE-ACTION ABS CHROME TRIM HALF PACK

B60-166 BATH DRAIN CABLE-ACTION ABS CHROME TRIM COMPLETE

B60-316FL BATH DRAIN FOOT LOK STOP 16" RB CORRUGATED 20GA  1 1/2 CSA

B60-316LT BATH DRAIN LIF N TURN 14" FLEX CORRUGATED 20GA

B60-316PC BATH DRAIN PLUG & CHAIN 16" RB CORRUGATED 20GA  1 1/2 CSA

B60-320FL BATH DRAIN FOOT LOK STOP 20" RB CORRUGATED 20GA  1 1/2 CSA

B60-320LT BATH DRAIN LIF N TURN 20" FLEX CORRUGATED 20GA

B60-320PC BATH DRAIN PLUG & CHAIN 20" RB CORRUGATED 20GA  1 1/2 CSA

B60-604CP BATH DRAIN CP BRASS CSA 1 1/2"OD  20GA. PLUG & CHAIN

B60-61 BATH DRAIN PLASTIC 1 1/2"OD PLUG & CHAIN

B60-610CP BATH DRAIN ABS CP PLUG & CHAIN(COMPLETE)

B60-611CP BATH DRAIN ABS CP PLUG & CHAIN(HALF PACK)

B60-620CP BATH DRAIN ABS CP LIFT & TURN COMPLETE

B60-621CP BATH DRAIN ABS CP LIFT & TURN HALF PACK

B60-63 BATH DRAIN PLASTIC 1 1/2"OD FOOTLOK

B60-630CP BATH DRAIN ABS CP FOOTLOK COMPLETE

B60-631CP BATH DRAIN ABS CP FOOTLOK HALF PACK

B60-631DSBN BATH DRAIN SCH40 FOOT LOK STOP DS BN HALF PACK BAGGED

B60-710SCP BATH DRAIN CP BRASS CSA 1 1/2"OD 20GA LIFT & TURN

BP60-165 BATH DRAIN CABLE-ACTION 1-1/2" SCH.40 LESS PIPES

BP60-166 BATH DRAIN CABLE-ACTION 1-1/2" X 15" SCH.40

BP60-604CP BATH DRAIN PLUG & CHAIN 1-1/2" X 15" BRASS

BP60-610CP BATH DRAIN PLUG & CHAIN 1-1/2" X 15" SCH.40

BP60-611CP BATH DRAIN PLUG & CHAIN 1-1/2" SCH.40 LESS PIPES

BP60-620CP BATH DRAIN LIFT & TURN 1-1/2" X 15" SCH.40

BP60-621CP BATH DRAIN LIFT & TURN 1-1/2" SCH.40 LESS PIPES

BP60-631CP BATH DRAIN FOOT LOK 1-1/2" SCH.40 LESS PIPES

BPK630ABS BATH DRAIN FOOT LOK 1-1/2" X 15", SCH.40

BPK630ABSDSBN BATH DRAIN SCH40 FOOT LOK STOP DS BN IN CLAMSHELL

BPK645ABSDSBN BATH DRAIN CABLE ACTION 1-1/2" X 15" BRUSHED NICKEL

BPK650ABSDSBN BATH DRAIN SCH40 ROLLER BALL DS BN IN CLAMSHELL

BPK71W BATH DRAIN TRIAD FOOT LOK 1-1/2" X 15"

TRIM KITS AND PARTS DESCRIPTION

B1308LRU BATH DRAIN SPONGE WASHER

B20879W BATH DRAIN SHOE RUBBER WASHER

B606-3PC BATH DRAIN STRAINER CP FOR B60-604CP 1 1/2"

B63-1 BATH DRAIN STRAINER CP 1 7/8"OD FOOTLOK

B63-11RU BATH DRAIN  WASHER FOOTLOK STOP WASHER

B63-1B BATH DRAIN STRAINER CP 1 7/8"OD FOR CHAIN & STOPPER

BP20965 POLYWASHER 1 1/2 X 1 1/4 & 1 1/2 X 1 1/2

BP631 BATH DRAIN CARTRIDGE CP FOOTLOK 5/16" THREAD PUSH

BP6311RU BATH DRAIN  WASHER RUBBER FOOTLOK STOP WASHER

BP631F BATH DRAIN CARTRIDGE CP FOOTLOK 5/16" THREAD PUSH

BPK820-10DSBN FACE PLATE BATHDRAIN BN 

BPK820-10PC FACE PLATE BATHDRAIN PC 

BPK821-39 RUBBER WASTE & OVERFLOW WASHER CLIP ON

BPK826-11DSBN FACE PLATE 2 HOLE W/ SCREWS BN 

BPK826-11PC FACE PLATE 2 HOLE W/ SCREWS PC 

BPK826-12DSBN FACE PLATE SCREWS BRUSHED NICK EL

BPK826-12PC FACE PLATE SCREWS PC 

BPK826-20DSBN FOOT LOK STOP ASSEMBLY BRUSHED NICKEL

v20140425  /  Page 6 of 8  514-940-9634  /  1-800-361-5960



BATH DRAINS (suite)

TRIM KITS AND PARTS (suite) DESCRIPTION

BPK826-20PC FOOT LOK STOP ASSEMBLY PC 

BPK826-22 RUBBER WASHER FOR 1 1/2 WASTE SHOE

BPK826-3 BEVELED WASHER FOR W & O 

BPK826-34DSBN ROLLER BALL ASSEMBLY BRUSHED NICKEL

BPK826-34PC ROLLER BALL ASSEMBLY PC 

BPK826-66AC TRIM KIT FOR FOOTLOK STOP AC 1 HOLE FACEPLATE

BPK826-66DSBN TRIM KIT FOR FOOTLOK STOP DSBN 1 HOLE FACEPLATE 5/16" PUSH

BPK826-66PC TRIM KIT FOR FOOT LOK STOP PC 1 HOLE FACEPLATE

BPK826-66VB TRIM KIT FOR FOOT LOK STOP VB VENETIAN BRONZE 1-HOLE FP

BPK826-71DSBN TRIM KIT FOR FOOT LOK STOP DSB 1 HOLE FACEPLATE

BPK826-81DSBN TRIM KIT FOR ROLLER BALL BN 

BPK826-81PC TRIM KIT FOR ROLLER BALL PC 

BPK826-81VB TRIM KIT FOR ROLLER BALL PC 

BPK863-11 RUBBER WASHER FOR FOOT LOK 

BPK863-50DSBN FOOT LOK REPLACEMENT CARTRIDGE 3/8 THREAD BRUSHED NICKEL

PPC820-10DSBN FACE PLATE BATHDRAIN BN 

PPC826-10 FACE PLATE 1 HOLE W/SCREW PC 

PPC826-11 FACE PLATE 2 HOLE W/ SCREWS PC 

PPC826-11DSBN FACE PLATE 2 HOLE W/ SCREWS BN 

PPC826-2 BEVELLED OVERFLOW WASHER 

PPC826-20 TUB DRAIN COMPLETE ASSEMBLY TIP TOE

PPC826-20BN FOOT LOK STOP ASSEMBLY BRUSHED NICKEL

PPC826-3 BEVELED WASHER FOR W & O 

PPC826-34 ROLLER BALL STOP REPLACEMENT PC

PPC826-35BN QUICK COVER UP TUB STOPPER BN BRUSHED NICKEL

PPC826-35PC QUICK COVER UP TUB STOPPER PC CHROME

PPC826-4 FLAT WASHER FOR W & O 

PPC826-63 WASTE STRAINER BODY BRASS 

PPC826-66BN TRIM KIT FOR FOOT LOK STOP BN 1 HOLE FACEPLATE

PPC826-66PC TRIM KIT FOR FOOT LOK STOP PC 1 HOLE FACEPLATE

PPC826-81PC TRIM KIT FOR ROLLER BALL PC 

NUTS, FITTINGS AND WASHERS

NUTS, FITTINGS AND WASHERS DESCRIPTION

B55-105 SLIP JOINT NUT BRASS PLATED 1 1/4" x 1 1/4"

B55-115 SLIP JOINT NUT BRASS PLATED 1 1/2" x 1 1/2"

B55-120 SLIP JOINT NUT CP 1 1/4" x 1 1/4"

B55-130 SLIP JOINT NUT CP 1 1/2" x 1 1/2"

B55-140 SLIP JOINT NUT   BRASS 1 1/4" x 1 1/4"

B55-145 SLIP JOINT NUT   BRASS 1 1/2" x 1 1/2"

B55-150 NUT SJ 1 1/4 X 1 1/4 CP BRASS 

B55-160 SLIP JOINT NUT CP BRASS 1 1/2" x 1 1/2"

B55-170 SLIP JOINT RUBBER WASHER 1 1/4" x 1 1/4"

B55-175 SLIP JOINT RUBBER WASHER 1 1/2" x 1 1/2"

B74-150 TAILPIECE POLYWASHER 1 1/2"

B74-225 POLYWASHER 1 1/4 X 1 1/4 

B74-250 POLYWASHER 1 1/2"

BP20955 NUT SJ 1 1/2 X 1 1/2 

BP20956 WING NUT SJ 1 1/4 X 1 1/4 WSHR 

BP25509 NUT SJ 1 1/4 X 1 1/4 DIE CAST W/WASHER

BP25510 NUT SJ 1 1/2 X 1 1/4 DIE CAST W/WASHER

BP25511 NUT SJ 1 1/2 X 1 1/2 DIE CAST W/WASHER

BP25513K SLIP JOINT WASHERS ASSORTED 

BP25515 TAILPIECE WASHER 1 1/2 

BP25516 RUBBER WASHER SJ 1 1/4 

BP25517 RUBBER WASHER SJ 1 1/2 

BP25519 POLYWASHER BEVELED 1 1/2 

BP25535 POLYWASHER 1 1/4 X 1 1/4 

BP50915K RUBBER WASHER SJ 1 1/4 

v20140425  /  Page 7 of 8  514-940-9634  /  1-800-361-5960



NUTS, FITTINGS AND WASHERS (suite)

BP55145 SLIP JOINT NUT   BRASS 1 1/2" x 1 1/2"

BP55-5WK NUT SJ 1 1/2 X 1 1/2 

BP57-5WK POLYWASHER BEVELED 1 1/4 

BP65-5K POLYWASHER BEVELED 1 1/2 

BP915DK NUT SJ 1 1/4 X 1 1/4 DIE CAST 

PPC835-57 RUBBER WASHER/GASKET BASIN 1 1/4 X 2 X 3/8

PPC855-10 NUT SJ 1 1/2 X 1 1/4 DIE CAST W/WASHER

PPC855-11 NUT SJ 1 1/2 X 1 1/2 DIE CAST W/WASHER

PPC855-13 SLIP JOINT WASHERS ASSORTED 

PPC855-15 TAILPIECE WASHER 1 1/2 

PPC855-16 SLIP JOINT WASHER 1 1/4 

PPC855-17 SLIP JOINT WASHER 1 1/2 

PPC855-19 POLYWASHER 1 1/2 X 1 1/2 

PPC855-35 POLYWASHER 1 1/4 X 1 1/4 

PPC855-70 DISHWASHER AIR GAP 

PPC855-75 DISHWASHER/DISPOSAL CONNECTOR W/CLAMPS

PPC855-9 NUT SJ 1 1/4 X 1 1/4 DIE CAST W/WASHER

PPC955B WING NUT SJ 1 1/2 X 1 1/2 

PPC956B WING NUT SJ 1 1/4 X 1 1/4 WSHR 

PPC965 POLYWASHER 1 1/2 X 1 1/4 & 1 1/2 X 1 1/2

PPC966 RUBBER WASHER SJ 1 1/2 X 1 1/4 WASHER

FLANGES

FLANGES DESCRIPTION

B54-340 SHALLOW FLANGE CP 1 1/2"IPS

B54-370 SHALLOW FLANGE CP 1 1/4"OD

B54-400 SHALLOW FLANGE CP 1 1/2"OD

B54-490 DEEP FLANGE CP 1 1/4"OD

B54-520 FLANGE DEEP 1 1/2 OD 

B54-550 BOX FLANGE CP 1 1/4"OD

B54-580 BOX FLANGE CP 1 1/2"OD

BP20295 FLANGE SHALLOW 1 1/4 OD 

BP20296 FLANGE SHALLOW 1 1/2 OD 

BP20298 FLANGE DEEP 1 1/4 OD 

BP20299 FLANGE DEEP 1 1/2 OD 

BP54550 BOX FLANGE CP 1 1/4"OD

BP54580 BOX FLANGE CP 1 1/2"OD

BP856K FLANGE SHALLOW 1 1/2 IPS 

PPC96PC FLANGE SHALLOW 1 1/2 OD 

PPC97PC FLANGE SHALLOW 1 1/4 OD 

NUTS, FITTINGS AND WASHERS (suite)

v20140425  /  Page 8 of 8  514-940-9634  /  1-800-361-5960


